=p gy &5 Tk, =

Decimali Sottrazione ( 4 cifre)

Nome:

7.1875
-3.0619

3.9865
—-5.7483

0.3328
—9.9534

4.406
—2.03006

3.4869
—-4.8297

7.7264
—2.6249

8.2638
—6.7061

0.2143
—9.7083
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Data: Punteggio:

0.8205
-4.6775

5.0226
—/.3585

1.6039
—-8.6575

0.8667
—0.5268
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=0 Gy =5 Ly =5 Decimali Sottrazione ( 4 cifre )

Nome: Data: Punteggio:

7.1875 3.4869 0.8205
-3.0619 —-4.8297 -4.6775
4,1256 —1,3428 -3,857
3.9865 7.7264 5.0226
—5.7483 —2.6249 —/.3585
-1,7618 5,1015 —-2,3359
0.3328 8.2638 1.6039
—-9.9534 —6.7061 —-8.6575
-9,6206 1,5577 —-7,0536
4.406 0.2143 0.8667
—2.0306 —9.7083 —0.5268

2,3754 -9,494 -5, 06601
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